MLER K

AL B AR E] 2 ® R WHE (ROMTH) Pk (Bik) UFLeHE (B

1 %Wﬁ“% BRI (BRAZ T e 1. 0,/ 1kg%7=v | 5. OF,/ 1kgX47-9
2 i;f%%%% Bl e (U =v B 10. O,/ 1kg¥72v |20. OM,/ 1kg¥47/=Vv

? 2WE A BRI (T E) (k) EBREER M 20. 01,/ 1kg%7=» [85. 0,/ 1kgX7-v

n S AR WEMED S (AF—LIE) |EAEE 1. OF/ kg7 9 | 6. 0/ 1kgX7 b
B DA BRI (KR | ) EEE A . OM/ TkeS70 | 3. 511/ 1kgit v
? T2 3H30R  [RBARY e ES AL | 25 A5 BT D A (HERK) [EF S HESN 0. 5M/ 1kgH7=v | 2. 0M 1kg%7/=V
7] D4R B (B ) Erm B . OM/ TkeS70 | 3. 01/ 1kgif= v
5| }%f@%4% BIRIED I CRIEAT R oy g e 10. OF1/ 1ke%79|30. 0M/ 1kg%/ v
o] SMEEAS WEMAE VI (E—ATA) | () s 0. 1M/ 1AK%%0 | 0. 5/, 14479
10) QWA EEMTE Y I EOA) (f) PEFEESE 0. 1M/ 1A%70|0. 50,/ 14%7%Y
m D4R ERE D () () EXCEA L OM/ 1ANEY | 6. 0F, 1 AYEY
" EHETS Y TR DB G775 | TR X == %5 WF= || Gm oy | 7. 0/ 1ketire s
13 i;"%%l D% HRMAED I (TS =T e 9. O,/ 1keX47=0 [19. 0M/ 1keX7= v
Z 2WE 1 5% BEMFEV I (TAIE) | (BF) SEREEE 20. O/ 1kegX7=v [75. 0/ 1kg¥7=V
15 é;’@%l SF WY B (AF L étf) YT XY T 0m 1ke7m0 |9, OF kg7 Y

1 R - i;‘%%l oF RRPIE VI (XM= oy s 4 1. OF,/ 1ke%70 | 3. 5,/ 1kg%7= v
- afn2fE THISAE |y 4 gL

17 2WE 1 55 EIEMIEY I R I AHES 0. 5M/ 1keg¥7=v | 2. 0M, 1kg¥47=v
E 2WE 1 55 HiEMITED A CErEAT) () HEp SR < 1. OM,/ 1kg¥7=v [ 3. 0M, 1kg¥7/b
B 5@%)1 oF HIIEY L CEldAT (BR) EBRBERR 10. O/ 1kg¥47=v|20. OM 1kgH47=Y
20 2L ST SRIED I (82U o) s 0. 1M/ 1A%79 | 0. 5[,/ 14%7%Y
1] oW1 55 ERMEVLL OA) | F) SEESHA 0. 1M/ 1A%7-0]| 0. 5/m,/ 14470

1/ 2=




MLER K

A KL B AMLEE R 5 B ® 9 ) 1 4 HEILE (K OHFTT) TREARE (Bidk) LR (Bidh)
22 %[:@%3 ot BRMIZED I BRAT T | e o 3. 0/ 1kg¥%7Y |10. 0/ 1kg¥7=Y
g i;f%%zg oF BIRMITEY I (TS =V e o 10. 0,/ 1kg¥7v|35. 0,/ 1kg¥7zy
Z 2WE 3 55 BEEWEV I (TAIM) | (BF) SBRBEEE 30. 0/ 1kg¥7=h [80. 0,/ 1kg%7=h
E é?"%3 5 HIRMIED B (AT [SPAEES 3. OM,/ 1kg¥%72v [12. 0/ 1kg47=v
26 2PRS o HIRREY I U= o) s 1. OM,/ 1kg7=0 3. 5M/ 1ke2f v
o7 wmmiAzE [meAR| ARG | 2n8s 55 wRpEY LD 6 |SEES 0. 5/ 1kei/=b | 2. 0M/ 1kg2ifz
2 2WH 3 55 EIRWIE Y v CRT R (BK) T BRETRX i 1. OM,/ 1keg¥7zv [ 3. OM,/ 1kg¥7z ¥
29 2WEE 3 5% BIRWIEY v (k) (k) EXCEA 1. 0,/ 1kg¥7=v | 5. 01,/ 1kg¥7=b
5 2?%)3 ok HRMEOL BREAT | oy mumurans 10. O, 1kg¥%7=v|20. 0,/ 1kgH47b
1] é?"%:% 0% RIRMEY I (LOME  |aepe o 10. 0/ 1kg¥7v|50. 0,/ 1kgX7b
5 2WH 3 55 ERWTY L (8) AR 2 45. 0/ 1kg47=v|120. OF/ 1kg47z¥

2/ 2 =Y



